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1. mmwmﬁﬁammﬁm—mwa?mwmmqﬁm%ﬁvm
fopar 9T 1 A Y AW 3 et wiafte Y ¥ o Rreee & JeER 3dfEid Avadr A6 g § o

IRy 3o Jrediehd S Smeat |

You have been called for the written test based on the online data furnished by you in the web application.
lf you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature wili be rejected.

2. WA, 80 Feat & b WeeT-f¥ie F T A ¢ AT qdvawm yafr 02 € ¥ |
The Question paperis in the form of Question Booklet with 80 questions and the duration of the testis 02 hours.

3. wﬁﬂaﬁamﬁmw*qsxﬁﬁﬁaﬁ#mwmmﬁaﬁ@?m

The questions will be ob]ectlve type with four options out of which only one will be unambiguously correct.

4, gedd U HIAT 04 3F g 3R YAF AT Ieal ST T 3Hh FRT AT |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. WAl % Seal &e & foIT 3761t INTHINR SecR-qReeTah & e
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.
6. 3N, Seal-qiede 3 T 71T el & AR, Arfr/FTe T & ater Uige U § HNTANR 3cci-

m%mmﬂmmw@rmwmm%l

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen as per the instructions given in the answer sheet.

7. UH 9T & AT 3905 3ca] Ted AT ST |

Multiple answers for a question will be regarded as wrong answer.
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8.  FRa st # Afed 9o g H1g HTHHR Icax qRedeT 9T Pifve o oF e s

Question booklet code printed on the top right corer should be written in the OMR answer sheet in the space
provided.

9. UT-GFEeT H AT A AT HeTHATR W |

Enter your Name and Roll Number correctly in the question booklet.

10. STANR Seav-gieaenr 3 wft wfafscar hefmrelt wmdt & afer wree o & & 1 iy ot

All entries in the OMR answer sheet should be with bluefblack ball point pen only.

1. qﬁmgﬁwﬁﬁﬂﬁﬁrmﬁaﬁﬁamsﬁﬁwmﬂmwmmml

You should sign the hall ticket only in the presence of the Invigilator in the examination hall,

12. R wer aerteme gid & 3ex Hogex, SBIIFHICY, HAITE Pl FUT I ST oD ST, Ure-

TEds, e ife et A HTafey 8 &) sty
Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be
allowed inside the written test hall.

13. - N IWF A

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand
over the original OMR answer sheet to the invigilator and retain the duplicate copy with you,

14, IeA-QREaT 33 ey oI T wa

The question booklet can be retained by the candidate.

15, ORI & SR 6 & NI 3rs it i e gier oige i sy A R

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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AT & (TfF) - 9g H.1402

DRAUGHTSMAN B (MECHANICAL) — POST NO.1402

1. T O F TS 89%ad 600 mE| FHHT IMAAA bl &7

Surface area of a cube is 600 m>. What is its volume?

(a) 1000 m’ (b) 500 m? () 600m’ (d) 1200m’

2. uw g & qued, SEd % 38 arfed ar afeda #X wde s S Awdr g, @+
FEA §l

Property of material by which it can be beaten or rolled into plate is

(a) deadi/Ductility (b)  FmETgatddr/Malleability

(c) aﬁ‘UFIT/Tenacity (d) HEGAVToughness
3. 3aw Avs Bafr ... & A Bl

One degree isequal to ........... in Radians

(A = (b =/180 (c) =/360 (d) =/9
4. ¥R 9fa SHE ST BT v Fed ol

Load per unit area is known as

(@) fasfA/Strain (b)  Wfddol/Stress

(c) SATEYdN/Elasticity (d) RAEIU/Deformation
5. Tapfa T ghE ... g

The unit of strain is

(a) N/mm (b) Nmm

(¢) N/mm’ (d) TAH ¥ FI$ AEI/None of the above
6. T Sl ST FF 3P .o, zarT fafése fram smar &

A bolt diameter is specified by its

(a) O =ara/Pitch diameter (b) &I TH/Core diameter

(c) oY =ArA/Minor diameter (d) & A/ Major diameter

B 3 1402
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7. AEBT e YFR F a4 gl

Welding is ___ type fastening

(a) 37U/ Temporary (b)  FUTS/Permanent

(c) 37 TATS/Semi-permanent (d) SAH ¥ FIS AE/None of these
8. eIl &I AU GOl A HFAH FEAAT ..ooovennes gl

In bi-lateral system of tolerance, the tolerance allowed is

(2) 3ifRd IER F7 AT Ured/Both sides of the nominal size
(b) 3fhd HPR FT TH qr2d/One side of the nominal size
(c) dTEdias HTHR 6 Teh q1d/One side of the actual size

(d) arEdfas AFR T &1=1 9T2d/Both sides of the actual size

Development of a right circular cone 1s

(@) UF TIRIOTVA triangle (b) @ Jeal/Two circles
(c) U Jod Ws/Sector of a circle (d)  ar BT/ Two triangles

10. AT AT AT FT T oovvernenes & 3N@Ur & o R S g
Continuous thick lines are used to draw
(a) AT @1/Dimension line (b)  HET {@M/Centre line
(c) TT PR/ Visible edges (d) HTWYTT HR/Hidden edges
1. o W@ ZART S8 ST §1
Construction lines are drawn by
(@) @ S@feld Y@I/Thin chain line (b) ERTAR FAE IWIT/Continuous thick lines
(c) WiEd YWIU/Broken lines (d) SENAR T TWIT/Continuous thin lines

B 4 1402
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12.

13.

14.

15.

16.

JA HIOT FATIOT F FUY T oo W FAET ST g

In third angle projection, top view is drawn

(@) X YI@ & F/Above X Y line (b) X Y¥@r & Ad/Below XY line
(¢) A T T arA/Left of front view (d) 3T T™ F FH/Right of front view

A leader line is usually

(ay oY gifesr 3@ gFd Ush oid 3@1/an inclined line with a short horizontal shoulder
(b) T FLATER {WT/a vertical line

(c) TH &S I@l/a horizontal line

(d) Wk T {@M/a tangent line

dietel, AT & F U 3ellE Aad g

Brass is a non-ferrous alloy of copper and .........

(2) Uﬂﬁﬁ'ﬂﬂ/z\luminium (b) ®3/Lead

(¢) TSi®/Zinc (d) HIE"/Manganese

FENT HN HAIH FIA T HaRF Jidad H gadl ¥, ST A iR aoner
afta = aur g X w dfafaa & $r afsr o Fe &l

The process of heating steel to a specified temperature and then cooling at a controlled rate, to
soften the steel and remove internal stresses is called

(@) <FI/Tempering (b) UHHAAHI0/Normalising
(c) FORA/Hardening (d)  FeeN®IU/Annealing

ol & Uy ‘d' T el F W D' W God T WA gl TF YR F9T T ...,
gl

Velocity ratio of a simple wheel and axle having diameter of axle, ‘d’ and diameter of
wheel, ‘D’ is

(@ D*d (b) DA () DA (d) d*D

5 1402
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17. Yot &dlfeh & Fgraar &, Sl 3§ 10 AfAF a1 &ar §, 500 fhamus &R & fomel
aE B 38 H U safFd EaRT ol Sl S3mar 17 gem?

How much force must be applied by a person to lift an object weighing 500 kg.f using a pulley
block that gives him a mechanical advantage of 107

() 10kgf (b) 20ke.f ) S0kgf ) 5000 kg.f

18. UH IR & AGYF 4aYT 36& N Jed ea® 240 AAE TR A ga & @ear gan

o

Module of a gear is 4 and its pitch circle diameter is 240 mm. Calculate the number of teeth in the
gear

(a) 60 (b) 40 (¢) 120 (d) 960

19. 10TZETA H UF ol 400d/A. & o1 Af@fashyg fgur & werar g1 goie $v wfdsw

.7 | SR gl

A bullet of mass 10 gm travels horizontally with a velocity of 400 m/s. The kinetic energy of the
bullet is

(a) 400 Sfe/Joules (b) 200 ST/ Joules

(c) 4000 Sfet/Joules (d) 800 Sel/Joules

20. 30%.m.utﬁ'mwa!§mwﬁmmﬁ%l afe |df edor & IuTE 0.15%
a sEFEdUT TR & U AT wgean & g feden §2

An object of weight 30 kg.f is resting on a table. What is the minimum horizontal force needed to
start it’s sliding, if the co-efficient of sliding friction is 0.157

@ 1.5kgf (b) 30.0kgf
©) 45kgf (d 6.0kgf

21, 50%.:11.mﬂmﬂwm-@mw#aﬁwwqm%laﬁmwmw
A 3 30 ' A o &ar ¥ A g wor & fav anf@a one w1 9 eene
(3rTAT g =10/./8.2)

An empty drum of mass 50 kg is resting on a shop floor. Find the co-efficient of rolling friction if a
force of 100N makes it just move. (Assume g=10 m/s?)

@@ 0.1 (b) 02 © 025 d) 0.15
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22.

23.

24.

25.

26.

dIHE % "9 8 i@ & & frasr suaer gar 7

Which of the following is used to measure temperature?

(a) YREIS/Thermocouple (b)  URTHRI/ Thermometer
(c) dTSAHEY/Pyrometer (d) 3'“33’?[ THI/AL of the above

10fh. 3. SEOA &I U U3 Fam H/4 & G397 ¥ & dar & YR &ar &
T VTR ETR W IR FAT § T e, gl

A body of mass 10 kg strikes a wall with a momentum of 1000 kg.m/sec. The velocity with which it
strikes the wall is

(a) 10m/s (b) 20 m/s (c) 100 m/s (d) 1000 m/s
U g 9 gl

A mortise gauge is a

(a) AT HSFR/Striking tool (b) AR HISIR/Planeing tool

(c) dESF HISTR/Boring tool (d) REA" 3SR/Marking tool

e Ies #, wic & Ffeade BR auT e 363 F =W o’ F $g H Prraw g

In spot welding, recommended minimum distance between the nearest edge of the plate and centre

of spot weld of diameter ‘d’ should be equal to

@) d (b) 1.5d © 2d ) 3d

A 108 H 57013, &r gl au F g1 IR IF 9w & 6 geh & 55 Ml /me
# afd A 39T SR gaTar § ar a6 F sHE afa Frae gefe

Ram needs to cover a distance of 570 km in 10 hours. If he drives his car with a speed of 55 km/hr
for the first 6 hours, what should be his speed later?

(a) 45 km/hr (b) 60 km/hr (¢)  55km/hr @ 50 km/hr
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27. HRART A fafdeal & 3aR 100 HEg5 &1 AT ...co.oco. gl

As per Indian standard specifications, 100 H6g5 means that

(a) HA ITHER100FAAY. Fbasic size is 100 mm

(b) areafas 3mHR100fA.H, B/actual size is 100 mm
(c) ¥e U9 dRETae 3R & &1 1 HeR100/A.AL &

difference between basic and actual size is 100 mm

(d sAHA FIS Fai/mone of these

28. UF 400.7%. Tefy oof e A 40 1A A F Foodd HFR H FT il & 7€ fF

A square plate of side 40 ¢m is cut into a circular shape of diameter 40 cm. The percentage of
material wasted is

(@ 10.5% (b) 15.5% () 20.5% (d) 21.5%
29. e 9T F eI, 9T & FAdA & o gl
In ---emmeememece projection, the projectors are perpendicular to the plane of projection
(2) fad=/0blique (b)  FEHIOIR/Orthographic
(c) TEA/Perspective (d) Hﬂ{vﬂﬁllsometric
30. THGRE VAT H, T i WFAE Hed & T F HY e &I BT FATH B
In isometric projection, each of the three axes makes an angle of ------=----- with the other two
(@) 30° (b) 45°
(¢) 120° (d) SAH ¥ HI$ él/none of these
31. FEddl OMell # T WM e, # wfafafaes & &
Zero line in a tolerance system represents
(a) FYAdH IR /minimum size (b) HT HFHR/basic size
(c) arFafae® HFR/actual size (@) STH ¥ HE Agi/mone of these

B 8 1402
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32. UF oF gecid A% B 9@ F WHAIR & FUIg & Y F HT IA §| Fe JRA H

A right circular cone is cut at half the height parallel to the base. The area of the cut section is
(@) ST F QTG & HHAA/Equal to area of the base

(b) & % BYAGEAHRT HTHT /1/2 the area of the base

(c) oY % STTHeET U 8T8 /1/3™ the area of the base

(d) 9T F aTHAR Uh ?-ﬁ%ﬂé /1/4™ the area of the base

33. ww fafdst & affg T8 aed IR a9%d ¥ g ¢ Bisar @ Fug & e

Curved surface area of a cylinder is two times (double) the base area. The ratio of height to radius is

@ 1:m (b 1:2 @ 2:1 @ 1:1

34, TRcATRNOT FZ & AT F A TU WIS & GAIGK HIARR FRE 20 x 12 FAL F:

The moment of inertia of a rectangular section 20 x 12 mm about an axis passing through the CG
and parallel to the length side is

(@ 240 mm’ (b) 8000 mm® (¢) 8000 mm? (d) 2880 mm®
35. T HABHIA ..ovenennne, #HeT &l

One micron is metre

(@ 107 ) 103 © 10° (d 10"

36. IT-WT oF FIe G §7?

Which one is not a conic section?

(a) 3Tdd/Rectangle (b) &reigeal/Ellipse
(¢) WRaeid/Parabola (d) HfAREET/ Hyperbola

B 9 1402
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39.

40.

37.

38.

auzrma'@wa?rqﬁﬁummﬁé:gwaﬁaﬁ ............. Fad &

The property of a material to resist penetration or indentation is called
(a) HEedl/Toughness {(b) %F‘ITG'&\TI Stiffness

(c) @&3dl/Hardness (d) 34?;I;THT /Brittleness

Rgatde afFar ... g & & @ i A §

Reaming process is done for getting

(a) 39 C[V&Tl' Qﬁ“\qﬁleHi-gh surface finish

(b) F=u @A Femdar/High dimensional accuracy
(¢) 3I=9 urd fasaras g¥/High metal removal rate
(d) 5THF EF% A&1/None of these

Tad & HROT A A AT 9T oo gl

The type of stress induced in a shaft due to torsion is
(a) 3IRUUT Hfdacl/Shear stress

(b) TIEH Ylaga/Compressive stress

(¢) e giaael/Bending stress

(d) 3udEFd FMAL of the above

us @ gfa Juvuer A gl §, afe | o &l

A rivet is in double shear if the joint is a

(a) i Rafed &9 AfeWDouble rivetted lap joint

(b) UHd RAfeT o Tf/Single rivetted lap joint

(c) UHA hal THha Rafea AS AM™/Single cover single rivetted butt joint

(d) a;% F Thd Rafed "o Ff&/Double cover single rivetted butt joint

10

GET IT ON
Google Play

1402


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

41, THAA S TF ..o, gl

An Allen bolt is
(a) ¥F 3R Flec/Self-locking bolt

(b) oy & YChIOT IHATHA | E_I_,T?'?T/Provided with hexagonal depression in head
(c) 3=d 7T dree/High speed bolt

(d) I3 & oy @ gﬂ-?flProvided with counter sunk head

42. eR@a A @ fFae yfafafcs gadh daa @ garr fBFar sar 87

Which one of the following is represented by thin continuous line?
(@) &M A@a/Hatching lines

(b) 888 eSsI/Hidden lines

(c) TEX ATSA/Centre lines

(d) fAffsa 33T arsa/Visible out line

43, WYROT &5l W UMY F1 A9, 3T A F 815 U9 4 Wl A . 854 & AT

A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs, 854 in 4 years. The sum
is:

(8 Rs. 650 (b) Rs. 690 (©) Rs.698 (d) Rs. 700

44, BN F FAA B .......... glar TR
The cutting edge of a chisel should be

(a) FoId/hardened

(b) <FIRAltempered

(c) I T ¢FIRd/hardened and tempered
(d) T F3Ic/case hardened

B 11 1402
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45. IUH TASA BT HET T8 oo gl

The main purpose of boring operation is to

(a) fOEdL=/drill a hole

(b) AT g IRFBRT FA/ream the drilled hole
(c) Hioier f3% @ Fg1 FeAlenlarge the existing hole
(d) 3"3@3’6 # @ 1 Adimone of the above

46. afr vw g FT carg v ey gfafda fear Sar § O oo aftveraeR &1 aar e
T T SEEUHARURS FT THR oo Tl

P ] 2
If the diameter of a hole is subject to considerable variation, then for locating in jigs and fixtures,
the pressure type of locator used is

(a) Qi?j fAtR&/Conical locator

(b) SelAPR AU/ Cylindrical locator

() sHEs A foTeiTe/Diamond pin locator
(d & RuR&/Vee locator

47. UF FE H, BET F TN G P B oo &gd &l
In conic sections, a double ordinate that passes through the focus is called
(a) oe" {@FTH/Latus rectum (b) & FfE/Double ordinate
(c) Hfe/Ordinate (d)  eTsT/Abscissa

48. eI 3 FC WA A ... |

In projected half sectional view

(a) Eﬂ?g FT AT dIgT AT & fewrar STar &/External details of the object is only shown
(b) a”&qarairiaﬁaa‘am—q’ms Emar srarg

Internal & External details of the object are shown

(c) T¥q HIAH g =i €1 f$@rRT AT §/Internal details of the object is only shown
(d) ZTH ¥ FIg FAEI/none of these

B 12 1402
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49. e H7i7H REas ..o gl
The symbol of fit H7{7 is a
(a) 3IHTelr fhe/clearance fit (b) cafdsoT fhe/Interference fit
(c) THAUT Fhe/transition fit (d) SHH W IS ALI/None of these
50. Ueh WYy T F&TT ........... gl

Efficiency of a joint is

wr & ad Strength of joint
(@ /
FIN T F A Strength of solid plate

(b) FON AT HF AN / Strength of solid plate
afrwred Strength of joint

T ad Strength of joint
©) 3 /
T &l Fol Strength of fastener

(d) BAN ¥ FI ET / none of these

51. 97 4. 9 577 5O F T A & sftara G d=9 5 gl
Max slant length of a square pyramid of base 4 cm and height 5 cm is
(@) v29 (b) V33 () 57 (d 25

52. 10#. &<, 47 =iE g 6 At F=N @9 Hua &l I & o mf@a 2. TiE ofe
#I AETan das feaer §7

What is the minimum length of sheet of 2 m width required for making a top open tank of 10 m
long 4 m wide and 6 m height?

(a) 84#I./m (b) 104 H./m (c) 240FT./m (d 20#L/m

53. WHEAETg BAIT & & WA URT Wag ‘a'® FAUr 3o A HoHor QFl v Por

An isosceles triangle has two equal sides of length ‘a’ and angle between them is Q. Then the area
of the triangle is

(@ a’cos’Q (b) a’sin’Q
(c) 0.5 a%cos (Q/2) sin( Q/2) (d)  a®cos (Q/2) sin (Q/2)
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54. O 1 g5 qoraw fwd B 38 aadt R & 9 A SA™ o7 wHar §, Ao Fed
]

The property of a metal by which it can be drawn to thin wire is called

(a) 3mEndaeddr/Malleability (b)  FeTaT/Ductility
(c) Heedl/Toughness (d) H3Rd/Hardness

55. fa=1fa@a & O fud s &1 JAf0Faw gfaea &2

Which of the following is having the highest percentage of carbon?

(a) Toear &g/ Wrought Iron
(b) TwaT SABT/Cast Iron
(¢) To&T @7 STATA/Low carbon Steel

(d) 39 e 3FIE/High Carbon Steel

56. TF T T A% A, B & [O€0.5 A, aur ey v d=rs 2584 g1 &t & o

In a simple screw jack, the pitch of the screw is 0.5 cm and length of the lever is 25 ¢cm. The

velocity ratio of the machine is

(ay 10z (b) 100m (¢) 20n (d) 25n
57. 4Tn.al grcq SAdrel U9 4Tl SAdTelr Al Y E&TaT ... Y

The efficiency of a motor that receives 4 KW and delivers 4 HP is (1HP = 745 W)

(a) 80% (b) 70% (c) 3725% (d) 74.5%
58. 8U.AL & IR AT FASTE AT HN TG .......... gl

Area of an equilateral triangle with one side 8 cm is

(@) 16 cm? (b) 32v3 em? () 16¥3cem® (d)  4V3cm
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59. TH elleleh &1 38% 3°d T A 0 wue & Sies |, 389 10 37 vd 2uldsr
FAT A Fa7 gem?

As a pendulum swings from its highest to the lowest position, what happens to it kinetic and
potential energy

(a) TRufaasa e afas Fat gl

Both potential energy and kinetic energy decrease
(b) FufdeTzat et va arfde Fsi weaft

Potential energy increases and kinetic energy decreases
(c) Teafaszat aeeh va aifds Far 3ol

Potential energy decreases and kinetic energy increases
d) Tufassat e afds sat gt a+fr

Both potential energy and Kinetic energy increase

60. 160000 mm3 Y¥Fa & geaA 0.4 fF.am. &1 verd &1 oreq ... |
Mass of 160000 mm? stone is 0.4 kg. Density of the material is

(a) 0.0025 gm/cc (b) 2.5gm/cc
(c) 0.025 gm/cc (d)  0.25 gm/cc

61. 20°CH Urg Ts # @ 100820, FAT 100°C & 104 A §) Ta & Ieed ww@R
AOME oo gl |

=)

The length of a metal rod is 100 cm at 20°C and 104 cm at 100°C. The co-efficient of linear
expansion of the material is

()  0.00005 /°C (b)  0.0005 °C
) 0.005/°C d)  0.0004/°C

62. TF IR@Ur A, 1B & Boar gechia a7 # au? & 100 AT & & goa
INRAT 6T I §1 IRWOT FT Fhel ..o gl

In a drawing, a circle of dia 100 mm is drawn to represent a circular field of radius 1 km. The scale
of the drawing is

@ 1:100 (b) 1:10,000 () 1:20,000 (d) 1:50,000
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63. 100fR3f. (Few A3) ¥ ¥s A ¥ fav Rga dEaar ... % 37X ¥

Open tolerance for a linear dimension of 100 mm (Medium Grade) is within

(a) +0.3 @A/ mm (b) +0.5 AL/ mm
() +02 AH./mm (@ 08 /mm

64. dFD T FATH' ¥ IFA TF Wocfamy P 1 FEd, WY F gl |
feua 2l

The centroid of an isosceles triangle with base ‘b’ and altitude ‘h’ is located at a distance of
........... from the vertex

(a b3 (b) 2W3
(c) b3 (d h4

65. @ sv O & HIEN, 1Rr.aT. geuee Td 5 WA Biear @ uE deeR |
0.5 Fr.am vd 50 4. Y TS & A T3 A FEE LITT F AFA SN A x A QP W
g &) UR R e & IFT TG STHAENT T { Hiad g S x F A
............. gl

A spherical ball of mass 1 kg and radius 5 cm is attached to a thin rod of mass 0.5 kg and length 50
cm, as shown in Figure. This rod with sphere will balance horizontally on a knife edge placed at
distance x from the free end of the rod. The value of x is

5 cmradius

(@) 353.F#/em (b) 428 A /om
(c) 459.FAr/cm (@ 48¥.Hfem

66, 52QTGS FE F UF A H ¥ UF FE O W, el FE VST A T FHEAA

........ gl
Probability of getting a black card when a card is drawn from a set of 52 playing cards is
(@) 1/52 (b) 172 (¢ 113 dy 1726
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67. IfE vw fUs & T F G W BT IO B, A 37H AAF FoA oo g1 e

If the velocity of a body is doubled, its kinetic energy
() g & SATTe/Gets doubled (by  HTER g ATTI/Becomes half
(c) 9REdsT A gFM/Does not change (d) ﬂ’f?l?-ﬁ & STaft/Becomes 4 times

68. UF U 09.30 TeT R@T B W @ A v 7 Mewe Y g F 9 F A0 @ oA

A clock shows a time 09.30 hr. The measure of the exact angle between the hour and minute hands
of the clock is

(@ 90° (b) 75° () 120° (d 105°

69. UH T ag TU GEA BR HFT a1 TH &F W ..., FE T

A beam with one end fixed and other end free is called
(a) THA: TR &3/Simply supported beam

(b) SHErNaR E3/Cantilever beam

(c) WeideT &8/Over hang beam

(d) HAd E3/Continuous beam

70. mﬁwammwmwmmﬁmmm

What is the probability of getting a sum 9 from two throws of a dice?

@@ /6 (b) 1/8 © 19 d 112

71. 20 AT x 10 A.F x 10 F#AL F JIFR F sdld H HOFaH FEaOfFaer gef, B

1.0 m3 3 AdT H T@T S vl §7
Maximum number of blocks of size 20 cm % 10 ¢cm x 10 ¢m that can be contained in 1.0 m> volume

() 200 (b) 300 (c) 400 (d 500
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72. 9T FHO7 F gRiarer REeT gl

The symbol for indicating the angle of projection is

(a) T A & [Beetah 1 AT 727 (Sl TACANT @A &
Two views of a frustum of a cone lying horizontally

(b) U T & Beeteh & €L (E)I FEATET AT ©
Two views of a frustum of a cone standing vertically

(c) & W gt T Th I
Two concentric circles and a rectangle

() TF ¥ &l T2 () S AT e &

Two views of a cylinder lying horizontally

73. 100 .#. w9 #T UF PQ @5T HP & 60 . 7 § I VP ¥ HAK & ol g

A line PQ 100 mm long is inclined 60 deg to HP and parallel to VP. The plan and elevation length

are:
(a) 50 & 86.60 (b) 50&50
() 100&50 (d) 50& 100
74, FNfAafer 3M@UT & 9gFd Fhel & RFFT FAAT oo gl

RF of a scale used in engineering drawing means
(a) fA®Is TReA/Representative fraction

(b) FART f@=1/Reduced fraction

(c) F{a‘ﬁ'ﬂ‘ﬂ' f==/Reduction fraction

(@ T fAs/Recommended fraction

75. fa.a & A3 3M@er dfic 1 @AERfdd AR s gl
Trimmed size of a A3 drawing sheet in mm is
(a) 297 x 410 (b) 297 x 420
(¢) 300x420 (d) THH A FIS 61/ None of these
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76. IR@UT # Merw Bear & Re ... gl
Sphere radius is represented in drawing by symbol
(a) OR (b RSP () SR (d) SR

77. FiT-W 3FT o 87

Which one is the false statement?

(a) THEG Benror 3 Tafr tﬁ‘x’é HATT §/Equilateral triangle has all sides equal
(b) ¥IT{ET§ BT & woft Fivr gEE EflEquilatera] triangle has all angles equal
(c) %WE Rlor 7 21 ured T@AT §/Scalene triangle has two sides equal
(d) fawaaTg PreRIoT & T UTed AT §/Scalene triangle has all sides unequal

78. UH god & U gl fog @ goad & Wit 18 volkar v swfewaw g gl
The maximum number of tangents drawn to a circle from a point outside the circle are
(a 2 (by 4
(c) 8 (@ foaar s 'Fi'@JTIAny number
79. FOSARE TH ..o !
Clinograph is a

(a) TAT FT A FIA & [T TIeFd 39Vl Instrument used for measuring time
(b) E@' T AT o & fAT UgFd 3ThI0N/Instrument used for measuring distance

(c) QTYHATA T AT Hle] & T 9qFd 39hIVI/Instrument used for measuring temperature
(d) THAST AT THATI/Adjustable set square

80. Wi ¥ TH TGl # 9ed, IRged Hr Bewr & woe €2

In which regular polygon, sides are equal to radius of the circumscribing circle

(a) 3TSTHSI/Octagon (b)  H-dH/Heptagon
(c) W3S Hexagon (d) ti'iTa:FrlPentagon
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F= w1 & fu TyM / Space for rough work

V4S5
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